CROSLEY

FURNITURE

Computer Desk
CF6508



Administrator
矩形

Administrator
椭圆形

Administrator
矩形

Administrator
矩形


PART LIST

Table Top Left Side Panel Right Side Panel Back Rail
1PC 1PC 1PC 1PC
#1 #2 #3 #4 #5
P o > &
$5/16"1-1/2" @4mm*1-3/4" $5/16"13mm $5/16"16mm @8mm*1-1/8"
Hex Socket Head Bolt Flat Head Screw Spring Washer Flat Washer Wood Dowel

9 PCS(Extra 1)

3 PCS(Extra 1)

9 PCS(Extra 1)

9 PCS(Extra 1)

3 PCS(Extra 1)

~

5mm

Allen Wrench

1PC

ADDITIONAL TOOLS(Not Provided)
Note:lIt is not recommended to use power tools during assembly.

»



rgarcia
Typewritten text
2


Step 1. Carefully lay table top (part A) on a soft surface such as carpet as shown, and open drawers.
Attach left side panel (part B) to table top (part A) using hex socket head bolts (part #1),
spring washers (part #3), flat washers (part #4) and allen wrench (part #6).
Attach back rail (part D) to left side panel (part B) using wood dowel (part #5), flat
head screw (part #2) and Phillips head screwdriver.

#6 #1 #3 #4
\

\ \

ommm X 4
= x4
X 4

%x1

& x1
& x1
Step 2.  Attach right side panel (part C) to table top (part A) and back rail (part D) using hex

socket head bolts (part #1), spring washers (part #3), flat washers (part #4), allen wrench
(part #6), wood dowel (part #5), flat head screw (part #2) and Phillips head screwdriver.

\\W7/4

\\N-// 4
\\V/7//0 /4

#1 X 4
#3 <= x4

#4 x4
#6 L—. x1
#2 & x1
#5 & x1



rgarcia
Typewritten text
3


Step 3.  Carefully turn the computer desk upright.



rgarcia
Typewritten text
4


	Text1: 9
	Text2: 1
	Text3: 8


